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QUESTION 1

Which of the following scenarios would dictate the use of a 64-bit processor instead of a 32-bit processor?
A. Implementation of access control lists (ACLS)

B. Implementation of more than two network cards

C. Implementation of iISCSI attached storage

D. Implementation of more than 4GB of RAM

Correct Answer: D

QUESTION 2

When troubleshooting a problem on a server, which of the following is the industry best practice?
A. Reseat all components

B. Replace the memory and CPU

C. Test each component one at a time

D. Reinstall TCP/IP

Correct Answer: C

QUESTION 3

A technician works in a datacenter that is shared by multiple companies. The technician is concerned with preventing
the theft of proprietary information by other technicians with access to the datacenter. Which of the following is the
BEST way to prevent data theft in this scenario?

A. Mantraps

B. Two-factor authentication

C. Security personnel

D. Locked rack doors

Correct Answer: D

QUESTION 4
An administrator is investigating an incident where an unauthorized user gained access to a server and modified HR

files. The administrator has a tested theory as to how the user accomplished this. Which of the following actions should
the administrator take NEXT?
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A. Perform a root cause analysis.

B. Implement a change to the servers.

C. Establish a plan of action to resolve the issue.

D. Question users prior to implementing the solution.

Correct Answer: C

QUESTION 5

Which of the following operating systems requires a 64 bit processor?
A. CentOS 5.2

B. Windows Server 2003 Enterprise Edition

C. Suse Linux Enterprise Server (SLES) 11

D. Windows Server 2008 R2 Standard Edition

Correct Answer: D

QUESTION 6

A server will run for about 30 minutes and then shut down suddenly. Which of the following is MOST likely causing this
behavior?

A. Power supply failure
B. Hard Drive failure
C. Cooling failure

D. POST failure

Correct Answer: C

QUESTION 7

Which of the following processor technologies is typically supported on current enterprise class UNIX servers but not
enterprise class Windows Servers?

A.RISC
B. CISC
C. Multi-threading

D. 64-bit
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Correct Answer: A

QUESTION 8

A company has had problems with their HVAC system being able to cool their datacenter as they have grown. Which of
the following could BEST be used to help reduce the load on the HVAC system?

A. Replacing the CAT5 cables with CAT6 cables

B. Replacing traditional racks with water cooled racks

C. Turning off non-critical application servers during non-business hours
D. Taking the second power supply\\'s out of non-critical servers

Correct Answer: B

QUESTION 9

A technician has been asked to install a printer with a DB-25 port to a print server. Unfortunately, the only available
ports on the server are USB. Which of the following expansion cards should be installed in the server to allow the printer
to be installed?

A. Parallel port card

B. Video card

C. Serial ATA card

D. IEEE 1394 card

Correct Answer: A

QUESTION 10

A company has its headquarters in Chicago and branch office in New York. The servers at headquarters replicate all
data from Chicago to New York in real time. This is an example of which of the following?

A. Hot site

B. Warm site
C. Cold site

D. Primary site

Correct Answer: A

QUESTION 11
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A technician needs to build a server with at least 16GB of RAM and Windows 2008R2 as the operating system. Which
of the following processors should the technician choose?

A. 32-bit AMD processor
B. 32-bit Intel P4 processor
C. 64-bit Intel processor
D. 64-bit ARM processor

Correct Answer: C

QUESTION 12

A technician would like to upgrade a server with a Socket LGA1155 Xeon processor. Which of the following processors
is compatible with this server?

A.P4

B. Celeron D
C. Athlon
D.i5

Correct Answer: D

QUESTION 13

While considering security, which of the following is the BEST place for a public web server accessible via the Internet?
A. Internal network

B. VLAN

C. VPN

D. DMZ

Correct Answer: D

QUESTION 14

Which of the following MUST be done when imaging a Windows Server that will be used as a template?
A. Remove software

B. Run Windows Updates

C. Update drivers
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D. Sysprep

Correct Answer: D

QUESTION 15

Which of the following are attributes of a hardware-based RAID controller? (Select THREE).
A. Backs up data

B. Less expensive than software RAID

C. Vendor neutral implementation

D. Accessible through a BIOS interface

E. More host CPU usage than software RAID

F. Accessible through a system utility after the OS has been loaded

G. May retain data in the event of a power outage

Correct Answer: DFG
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